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BIRDS IN GROUPS

<
Some birds are flying in the sky. 60
How many birds are there in /(,(,(f(/{ °

each group ?

There are 10 birds in the sky. _ ¥y D A °
They are in 2 groups. vy 7 ‘

There are 5 birds in each group.
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<'| We say : 6 divided by 3 is equal to 2.

Division as Sharing

LET US SHARE BALLOONS
3 children buy 6 balloons.

They want to share them equally.

Each child gets 2 balloons.

We write: 6 + 3 =2
‘+’ Is the symbol of division.
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LET US SHARE KITES

Here are 12 kites. @@ﬁ
We divided them in 2 groups. “ﬁ

Each group has 6 kites. ﬁ-ﬁ-ﬁ-

We say : 12 divided by 2 is

equal to 6. ﬁ ﬁ

We write : 12 + 2 Z/
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BOAT SHARING
12 boats are shared equally among
3 pools gives 4 boats to each pool.

We say : 12 divided by 3 is equal to 4.

We write: 12+3=4 A -
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\.@ Division Using the Number Line

Divide 10 in groups of 2 on number line. Count the
number of jumps of 2 which can be made from 10 :
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There are 5 jumps of 2.

We say : 10 divided by 5 is equalto 2.

Wewrite: + :
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8. Fill in the boxes :
| 2 equal groups A LR
[:% 3 equalgroups o 2 =
;%‘f 4 equal groups -.. .-.‘ ._..
«Z{‘ 5 equal groups .... 9.‘ oo
oﬂ 6 equilgroups _: =< E
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\i [ Division (Without Remainder) ]
..“. EXAMPLE 1 : Divide 10 by 2.
[,‘j'i] SOLUTION: 5 We read the
% - ) 10 multiplication table of
& -10 2, and get
) -z . 0 2x5=10.
| Thus,10+2=5. 2x5=10 |

R ASERSECE R RSN RS

e O CSODO@D



Divide 12 =— 4




| Letustry to put them in 4 boxes equally.
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Division (With Remainder)>
We have 21 balls.

GHebebahes (oD Hd )
EhEhébEeher |—(DDHHDHD )
EHEbEHEDEE |— (DD HSD )

- CERNE NNy

VEESLEET S S O+=

>
4



Step 2:

3 x3=9.
3 goes in 9 three times,
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1 ball is left over.

21 -4 =5 and 1 left over.
5 We know that

AY21 4 x5=20and 4 x 6 = 24

-20 20<21 and 24 > 21
1

. 4 goes 5 times into 21.

Subtract 20 from 21. 1is remainder.
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4 |s Called

divisor

21 1s Called
dividend

V21

-20

1

5is Called
guotient

1is Called
remainder
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quotient
divisor/dividend

remainder
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